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‘\mc: Answer any 2 full questions, choosing one full question from each part.

Q0 Questions Marks |RBT| COs |
BN : = '~ '
| PART A
I & Discuss in detail the process deoxygenation and reoxygenation with 10 L1 | CO3
_respect to self-purification of natural waters with a neat sketch |
bl Dm’w the flow diagram of municipal wastewater treatment and hwh- 10 [2 | €03

Jid |1Eh[ [hE nmpartant Opmd[mn e .
AEE \.pldlﬂ a) Sewage far ming b} S:x\';tgr_:_ﬁickncss_ _
| : . OF:
2 Explain the importance of screens and types of screens in the sewagek 12 | L2 | CO3

lreatment process. =
biA stream. saturaled with D.0., has a flow of 1.2 m3/sec. BOD of 4 mg/l{ 13 L3 | Cos
and rate constant of 0.3 ;Jchm [l receives an L'FﬁLIEH[{ll..‘JL{]rJFHE of 0.25
mi/sec having BOD of 20 mg/L. D.O. 5 mg/L and rate constant 0.13
per day. The average velocity of flow of the stream is .18 m/sec. Cal-

. feulate the D.O. deficit at point 20 kms and 40 kins downstream, Assume|

the temperature as 200C, throughout and BOD is measured at 5 days.

_Take satwration D.0. at 20'C as 9.17 mg/L.
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PART B
13 4 Ciive the comparison between conventional and high rate trickling 10 L2 | CO4
filters. |
b DLSIEE a rectangular sedimentation tank for a population of 90 thou- 10 L3 | CO3

sand with rate of water supply 140 litres per capacity per day.80% of
which reaches the treatment plant. Assume peak factor as 1.2 and hori-|
__;31_11:1] velocity of flow 0.3 m/minute. Check for overflow v rate.
¢ The sewage ol a town is to be discharged into a river, The guantity of 3 | L2 | CO3
sewage produced per da} is 8 million liters and its BOD is 250 mg/1l. T

the discharge in the river is 200 /s and if its BOD is 6mg/l, find the

B.0.D of the diluted water. 5 : | . i
—_ - — GR - - _
4ln ‘Jk"hat the problems encountered in the operation of trickling filter. ' 3 L2 | CO4
b Determine the depth and volume of a standard rate tricklir na lilter for 10 L3 | Cco2

. 1he following data: ]

S Quantity of settled sewage = 6§ MLD
i, BOD of sewage = 200 mg/] '
i Rate of organic loading = 200 gm/m3/day Rate of surface load-
fing = 2500 I/m2/day

«cilDesign a circular settling tank for primary treatment of domestic sewagg 10 L3 | Ccoi
- lor a flow of 12 MLD. Assume suitable values of hydraulic retention |
[ i time and surlace loading rate.
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